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1. Of the following bridges the one which can be used for the measurement of dielectric loss of a

capacitor is –

a.) Schering bridge

b) Heaviside campbell equal ratio voltage

c) Owen bridge

d) Anderson bridge

2. LBDT is uses as a –

a). Displacement transducer

b) Pressure transducer

c) Temperature

d.) Any of the above

3. Polarization is a measure of -

a.) Dielectric constant per unit volume.

b.)Voltage gradient to produce electrical breakdown

c.) Product of charge & distance

d.)Excess charge density

4. Compared to the inductive type of transducer, capacitive transducer is superior for the measurement

of displacement because of -

a.)Absence of non-linearity

b.) High frequency response

c.) Small size

d.) High accuracy

5. An incremental model of a solid state device is one which represents the –

a.) ac property of the device at the desired operating point

b.dc property of the device at all operating points

c.) Complete ac & dc behaviour of the device at all operating points

d.)ac property of the device at all operating points.

6. The ac resistance of a forward biased p-n junction diode operating at a bias voltage 'V' & carrying

current ‘I’ is –

a. )Zero

b. )a constant value independent of Vand I

c.)

d.)

7. A meter is shielded with a soft iron to –

a. )Prevent damage from rough use

b.) Keep moisture out of movement

c. )Protect meter movement from stray magnetic fields

d.) Achieve all of the above

8. A capacitor that has been connected across a battery for comparatively long time becomes–

a. )Charged

b.) Discharged

c.) Short - circuited

d.) Defective

9. The charge on the plates of a capacitor is given by the expression –

a.) Q = VI

b.) Q = IR

c.) Q = CV

d.) Q = IC

10. Silicon steel used for electrical purposes has silicon percentage of –

a. )0.5

b.) 2.5

c.) 3.4

d). None

11. The feature of VTM is its –

a. )Low input impedance

b. )Low power consumbtion

c. )The ability to measure wider ranges of voltage & resistances

d). None

12. In an N-type semiconductor, the position of the fermi level –

a. )Is lower than the centre of the energy gap

b.) Is at the centre of the energy gap

c.)Is higher than the centre of the energy gap

d. )Can be anywhere depending upon the doping concentration

13. A JFET can operate in –

a.) depletion & enhancement model

b. )depletion mode only

c. )enhancement mode only

d.) neither enhancement nor depletion mode

14. Consider the following semiconductor diodes –

a. )Germanium diode

b.)Silicon diode

c.) Tunnel diode

d.) Schottky diode

15. A diode with a PIV of 50V is likely to break down when rectifying 50v ac supply because –

a.) it is made of defective material

b.) it is incorrectly connected to the supply

c.) peak value of ac supply exceeds the PIV value

d. ac supply is of extremely high frequency.

16. The set of transistor characteristics that enables a to be determined directly from the slope is –

a.) CE transfer characteristics

b. CE output characteristics

c.) CB transfer characteristics

d.) CB input characteristics

17. For an N-channel JFET, the drain voltage has to be –

a.) positive with respect to the source

b.) negative with respect to the source

c.) uncharged with respect to the source

d.)none

18. The SCR is often employed as a –

a. )Source-controlled switch

b. )Drain-controlled switch

c.) Gate-controlled switch

d) None

19. An oscilloscope has an input impedance consisting of 1MW & 20pF in parallel. A high impedance

probe connected to the input of this oscilloscope has a 10MW series resistance, this 10MW resistance –

a.) Need not be shunted

b.) Should be shunted by a 2pF capacitor

c.) Should be shunted by a 20pF capacitor

d. Should be shunted by a 200pF capacitor

20. Compared to silicon, gallium arsenide (GaAs) has –

a. )Easier to grow crystals since the vapour pressure of arsenic is high

b. )Higher optolectronic conversion efficiency

c.) Both a & b

d). None

22. When all the resistances in the circuit are of one ohm each, then the equivalent resistance across the

points A & B will be –

a.)1W

b.) 0.5W

c.) 2W

d). 1.5W

23. Of the following periodic waveforms the one having only odd harmonics of sinusoidal waveform

is

a.)1 & 2

b.) 1 & 3

c. )1 & 4

d. )2 & 4

28. When in a two terminal network, the open circuit voltage measured at the given terminals by an

electronic voltmeter is 100V & a short circuit current measured at the same terminals by an ammeter of

negligible resistance is 5A then if a resistor of 80W is connected at the same terminal, then the current

in the load resistor will be –

a. 1A

b.) 1.25A

c). 6A

d. 6.25A

31. The electric potential due to an electric dipole of length L at point distance r away from it will be

doubled if the -

a. ) Length L of the dipole is doubled

b. ) r is doubled

c. ) r is halved

d ) L is halved

32. When a particular mode is excited in a waveguide there appears an extra electric component in the

direction of propogation . The resulting mode is

a. ) Longitudinal electric

b. ) Transverse electromagnetic

c. ) Transverse magnetic

d ). Transverse electric

33. When for a transmission line the open circuit & short circuit impedance are 20W & 5 W

respectively then the characteristic impedance of the line is -

a. ) 100 Ohms

b ). 50 Ohms

c. ) 25 Ohms

d. ) 10 Ohms

34. In an ideal transmission line with matched load, the voltage standing wave ratio & reflection

coefficient are respectively -

a. ) 1 & 1

b ). infinity & 1

c ) infinity & 0

d. 1 & 0

35. When an electric charge of 100 coulombs is enclosed in sphere of radius 100 m then the electric

displacement density ( in coulomb / m2) D is –

a. ) 0.0833

b ). 0.833

c. ) 1.666

d. ) 10

36. For the dominant mode in a rectangular wavelength with breadth 10 cm, the guide wavelength for a

signal of 2.5 GHz will be -

a. ) 12 cm

b. ) 15 cm

c. ) 18 cm

d. ) 20 cm

37. When the phase velocity of an electromagnetic waves depends on frequency in any medium, the

phenomenon is called

a.) Scattering

b. )Polarization

c. ) Absorption

d. ) Dispersion

38. Antennas commonly used for microwave links are -

a. ) Loop antenna

b. ) Log-periodic antennas

c. ) Paraboloidal dishes

d ). Rhombic antennas

39. One of the following instrument which may be used to measure the optical activity of compounds is

 a. )Infrared spectrometer

b. ) Atomic absorption spectrometer

c. ) Polarimeter

d. ) Flouroscope

40. Schering bridge measures –

a. )Capacitance dielectric loss

b. ) Inductance

c. )Resistance

d. ) Mutual inductance

41.When a square wave is fed to an RC circuit, then –

a. ) voltage across R is square & across C is not square

b. ) voltage across C is not square & across R is not square

c. ) voltage across both R & C are square

d. ) voltage across both R & C are not square

42. The time constant of the RC circuit is –

a. ) less than the time period of the input square wave.

b ). much larger than the time period of the input square wave.

c. equal to the time period of the input square wave.

d ). none

43. Harmonic distortion for each frequency can be obtained by harmonic analyser of the –

a. )heterodyne type

b. ) tuned circuit type

c. ) fundamental suppression type`

d. ) bridge circuit type.

44. A three phase wattmeter requires –

a ). only two current coils & two pressure coils

b. )only one current coil & two pressure coil

c. ) only two current coils & one pressure coil

d. ) only current coil

45. A low pass filter circuit is basically –

a. ) a differentiating circuit with low time constant

b. ) a differentiating circuit with large time constant.

c. ) an integrating circuit with low time constant.

d. )an integrating circuit with large time constant.

46. If the differential pressure in restriction type flow measuring devices is then the flow will be

proportional to –

47. When a system is represented by the transfer function then the dc gain of this system is –

a.) 1

b.) 2

c.) 5

d.) 10

48. Silicon based semiconductor device called thyristor was first fabricated by –

a). Jell laboratories in U.S.A

b). Maxwell laboratories in U.S.A

c.) Bell laboratories in U.S.A

d). GEC laboratories in U.S.A

49. A semiconductor based temperature transducer has a temperature coefficient of –2500mV/0C. This

transducer is indeed a –

a.)Thermistor

b.) Forward biased pn junction diode

c. )Reverse biased pn junction diode

d.) FET
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50. Which of the followings pairs of Telemetry situations & Modulation techniques & conditions is

correctly matched

a.)Pulse amplitude modulation Low amplitude signals

b. )Pulse position modulation For short distance when power is enough

c.) Pulse width modulation Power to be spent in telemetry is required to be low

d.) Pulse code modulation. Minimization of interference effects.

51. The SCR ratings di/dt in A/m sec & dv/dt in n/m sec, may vary, respectively between

a.)20 to 500, 10 to 100

b. )both 20 to 500

c.) both 10 to 100

d.) 50 to 300, 20 to 500

52. Match the given controlled rectifiers with 50 Hz supply

a. )1 phase full converter with source inductance

b. )3 phase full converter

c.)3 phase semiconductor

d. )3 phase halls wave converter

53. For natural or forced commutation the cyclo converters (CCs) requires as under.

a) natural commutation in both step up & step down CCs

b.) forced commutation in both step up & step down CCs

c.) forced commutation in step up CCs

d). forced commutation in step down CCs

54. The peak inverse voltage in ac to dc converter system is highest in

a).single phase full wave mid point converter

b). single phase full converter

c) 3 phase bridge converter

d). 3 phase half wave converter.

55. A single phase full converter feeds power to RLE load with R = 6 W L = 6 MH & E = 60 V. The ac

source voltage is 230 V, 50 Hz, For continuous conduction, the average value of load current for a

firing angle delay of 50 is

a.)12.181 A

b). 14.81 A

c). 16.76 A

d.) 32.40 A

57. What is 215 complement of 00011100-

a.) 11100011

b.) 10001100

c.) 11100100

d.) 10000111

58. In C programming a expression contains relational operators, assignment operators & arithmetic

operators if parentheses is absent then execution follows

a.) assignment, relational, arithmatic

b.) arithmatic, relational, assignment

c.) relational, arithmatic, assignment

d.) assignment, arithmatic, relational

59. In semiconductor memory information stored in form

a.)binary

b.) hexadecimal

c.) octal

d.) ASCII

60. i\p to Not gate gives o/p asa

a) inversion of some bits

b.) 2’s complement of i\p

c.) 1’s complement of i\p

d.) o/p is some as i\p
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61. A negative logic means

a.)logic 0 & 1 are represented by a +ve voltage respective

b). logic 0 & 1 are presented as –ve & +ve voltage

c. )logic 0 voltage is higher than logic 1 voltage level

d.) logic 0 voltage is lower than logic 1 voltage level

64.A 20,000 Ohms per volt meter will deflect full-scale with a current of -

a.) 50 mA

b.) 50 mA

c.) 100 mA

d.) 1000 mA

65. A plate modulated class –CRF power amplifier produces 100 KW of radiated power at 100 %

modulation. The modulating audio amplifier supplies approximately -------- kW of this power

a.)50

b).33

c).22

d).11

66..An amplifier without feedback has a distortion of 15 % & gain of 40. When 10% negative feedback

is applied the distortion will become

a.)50 %

b). -45 %

c). 3%

d). -5%

67. MODEM implies

a.)Modulator at transmitting side & ditector at the receiving side

b.)Which deals with analog signals & shows digital information

c.)Analog to digital at transmitting side & digital to analog at a receiving side

d).A device which deals with digital signals only

68. Twisted ring & ring counters are examples of –

a. )Synchronous counters

b.) Asynchronous counters

c.) both a & b

d.) None of the above

69. Specify Non characteristic flip flop in the following –

a.) The outputs are complement of each other

b.) The flip flop has two input signals

c.) The flip flop has two output signals

d). The flip flop is a bistable devise with only two stable states

70. The voltage obtained when digital input is 001 is a 3 bit R-2R ladder DIA converter is

a.)VR/22

b.) VR/21

c.) VR/23

d.) none of the above

71. Identify NOT an octal number

a.)19

b). 15

c.) 77

d.) 101

72. The set of binary digits 01000100 represent's

a.)number 6810 in a pure binary computer

b.) number 44 in 8421 BCD code

c) Both a & b

d.) None of the above

73. The system matrix of a continuous time system, described in the state variable form is –

The system is stable for all values of x & y satisfying –

a.)x <> 1/2 , y >0

d.) x < 0 , y < 1/2

74. The break away & break in point in the root locus for open loop transfer function G(S) H(S) = are

located respectively at – a). –2 & -1 b). –2.47 & –3.77 c.) –4.27 & –7.73 d.) –7.73 & –4.27

77. The overall transfer function in a second order is given by- Its resonant frequency is - a.) 2 b.) c).

d.) 3

78. The detection of an AM waveform in an Envelope –

a.)One side band & full amplitude carrier are needed

b.) Both side bands & full amplitude carrier are needed

c). Only two side bands are needed

d). Upper side band & part of carriers are needed

79. Satellite used for intercontinental communication is known as –

a.) Comsat

b). Dom sat

c.) Mari sat

d). Intelsat

80. Mark out non submarine cable –

a. )TAT – 7

b.) INTELSAT V

c.) ATLANTIS

d. )CANTAT 2

81. The capacity of an analog communication channel with 4kHz bandwidth & 15 dB SNR is

approximately

a).20,000 bps

b). 16,000 bps

c.) 10,000 bps

d.) 8,000 bps

82. The blind speed of an MTl radar can be avoided by changing the

a.)Carrier frequency

b.) Pulse repetition frequency

c. )Antenna rotation rate

d.) Transmitted power

83. The output voltage in a feedback series regulator circuit is regulated by controlling the

a.)Magnitude of the input voltage

b.) Gain of the feedback transistor

c.) Reference voltage

d.) Voltage drop across the series pass transistor

84. Indicate the signal not transmitted in colour TV

a.)Y

b.) Q

c.) R

d.) I

85. As frequency of signal increases

a.) Directivity increases & beam width increases

b.) Directivity & beam width decreases

c.) Directivity increases & beam width decreases

d.) Directivity decreases & beam width increases

86. The number of hardware interrupts (which require an external signal to interrupt) present in on 8085 mP are

a). 1

b). 4

c.) 5

d.) 13

87. Highest priority interrupt is

a.)INTR

b. )RST 7.5

c. )RST 6.5

d. )TRAP

88. One instruction cycle means

a.)Time require to execute set of instructions

b. )Time require to execute one instruction

c.) Time require to complete one operation of accessing memory, or I/o

d.) None of above

89. If the clock freq. is 5 mH3 how much time is required to execute on instruction of 18 T-states

a.)3.6 msec.

b.) 36 m sec.

c.) 36 m sec.

d.) 36 sec.

90. In data transfer operation which flog get affected

a.)zero flog

b. )carry flog

c. )sign flog.

d.) none

91. CMP instruction comes under group -

a. )Data transfer

b. )Brouching operations

c). Machine control operation

d.) logical operations

92. The logic operation

a.)are performed in relation to content of Accemce lotor

b).can be performed derectly with content of the register.

c.)are performed without content of a

d.)none of above.

93. What happen when PUSH instruction executed -

a.) data retrieved from stock to register

b.) data from register saved on the stock.

c.) 16 bit address of instruction saved on stock.

d.) 16 bit address from stock retrieved

94. SIM stands for

a.)serial interface memory

b.) set interrupt mask

c.) set if minus

d.) set internal memory

95. Maximum clock frequency required to operate 8085-

a. )2 MHz

b.) 3 MHz

c) 6 MHz

d. )9 MHz

96. ASCII code is

a).7 bit

b). 8 bit

c.)16 bit

d.) 32 bit.

97. In memory mapped I/O address lines area.

a.) 8

b.) 16

c.) 32

d.) 64

98. The parity bit adding technique is used for -

a. )Indexing

b. )Coding

c. )Error detection

d. )Controlling

99. A demultiplexer

a.)has multiple i/p & single o/p

b.) has single i/p & multiple o/p

c.) has multiple i/p & multiple o/p

d.) has single i/p & single o/p

100. Subroutines are useful

a.)to reduce storage requirements

b.) to increase programming speed & reduce storage

c.) most applications are same

d.) but increases expense

101. As daring goes with temerity same way clear-sighted with –

a. )Perspicacity

b.) Impulsiveness

c.)Energy

d. )Clemency

102. A man who visits his friend is a –

a. ) Host

b. ) Guest

c. ) Master

d.) Owner

103. Zealot is –

a. )beginner

b.) Patron

c.) fanatic

d.) Murderer

104 Give the plural of ‘Mouse’ –

a. )Mouse’s

b). Mice

c). Mouse

d). None

105. Find the part of speech of the underlined word – Shama & Radha were playing together.

a. )Preposition.

b. )Noun

c. )Conjunction.

d) Verb.

106. Which of the following is not one of the multiple names of ganesha?

a). Vinayaka

b). Lambodra

c.) Ekadanta

d.) Vighneshwara

e. )all of the above

107. If a man weighs 60 Kilograms on earth, how much will be his weight on the moon?

a. )50 kg

b. )40 kg

c. )20 kg

d. )10 kg

108. The only Indian star selected for waxing at the famous Madame Tussaud’s wax is

a.)Salman Khan

b.)Amitabh Bachan

c.)ShahRukh Khan.

d.)Raj Kapoor

109 Rate of growth of per capita income in India drops down to – percent in 2000-2001-.

a. )5.3 percent

b. )3.5 percent

c. )4.8 percent

d. )8.4 percent

110. Ascorbic acid is the chemical name of

a.)Vitamin A

b. )Vitamin B

c. )Vitamin C

d.) Vitamin D

111. All India Muslim League was founded by

a.)Nawab Slimullah Khan

b.)Sir Mohd Iqubal

c.) Sir syed Ahmed Khan

d.) Moulana Shaukat Ali

112. Red Blood corpuscles are formed in

a.)Marrow

b) Kidney

c). Liver

d). heart

113. The southern most tip of India is in

a.)Lakshadweeep

b.) Kanya Kumari

c.)Andaman & Nicobar Islands

d.)Rameswaram

114. The first bowler in cricket history to take 500 test wickets is

a.)Imran Khan

b). Courtney Walsh

c). Shane Warne

d.) Muttiah Murlidharan

115. President of the National Consumer Disputes Redress al Commission (NCDRC) is

a.)Mr. D.C Wadhwa

b). Mr. A. P Wadhwa

c.) Mr. A. C Wadhwa

d.) Mr. D. P Wadhwa

116. C.V. Raman got Nobel Prize for

a.)Themodynamics

b.) Quantum theory

c. )Optics & spectroscopy

d.) Nuclear Physics

117. First governor general of Bengal

a).Lord Clive

b.) Lord warren Hastings

c. )Lord Lytton

d.) Lord Ripon

118. The slogan “Do or Die” is associated with

a.)Subhash Chandra Bose

b.) Gandhigi

c.) Harijan

d.) Satyagraha

119. Champaran is in the state of

a). Gujarat

b). Maharashtra

c.) Bihar

d). Madhya Pradesh

120. These tribes are found in central Asia

a.)Garos

b. )Kirghiz

c.) Lushai

d). Santhals
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1. When a inductive coil connected to a 200 V, 50Hz ac supply with 10A current flowing through it

dissipates 1000 watts then which of the following will have least value in ohms

a.)Resistance

b.) Reactance

c.) Impedance

d.) None

2 Oscillator crystal are made of –

a.) Silicon

b.) Germanium

c.) Quartz

d.) None

3. For small size, high frequency coils, the most common core material is

a.)Air

b. )Ferrite

c.) Powdered ion

d.) Steel

4. If we have a parallel plate capacitor of plate area ‘A’ and plate separatoin t and having a capacity C

and a metallic plate r of area A and of negligible thickness is introduced in the capacitor at a distance from either of the two plates as shown in the given figure then the capacity of the capacitor will become –

a.)

b.)C

c.)2C

d.)4C

5. A superconductor is a –

a.)A material showing perfect conductivity and Meissner effect below a critical temperature

b.)A conductor having zero resistance

c.)A perfect conductor with highest di-magnetic susceptibility

d.)A perfect conductor which becomes resistance when the current density through it exceeds a critical

value

6. When an inductor tunes at 200 KHz with 624 pF capacitor and at 600 KHz with 60.4 pF capacitor

then the self capacitance of the inductor would be –

a)8.05 pF

b)10.05pF

c.)16.01pF

d.)20.01pF

7. Sparking occur when a load is switched off because the circuit has high –

a.)Inductance

b.)Capacitance

c.)Resistance

d.)None

8. Sparking between contacts can be reduced by inserting a –

a.)Resistance in the line

b.)Capacitor in series with contacts

c.)Capacitor in parallel with contacts

d.)None

9. RF amplifier of an A.M. receiver is normally biased in –

a.)Class ‘A’

b.)Class ‘b’

c.)Class ‘C’

d.)None

10. The value of gate voltage for the operation of enhancement of only N channel MOSFET has to be –

a.)High positive

b.)High negative

c.)Low positive

d.)Zero

11. The input gate current of a FET is –

a.)a few micro amperes

b.)negligibly small

c.)a few milliamperes

d.)a few amperes

12. In the following fig. with R = 30k, the value of current through 2 K resistor is –

a.)25 mA

b.)40 mA

c.)25/16 mA

d.)10 mA

13. A step recovery diode –

a.)has on extremely short recovery time

b.)conducts equally well in both directions

c.)is mainly used as a harmonic generator

d.)is an ideal rectifiers of high frequency signals

14. In order to get maximum undistorted output signal from CE amplifier with VCC 10V, the value of

VCE (Q) should be approximately

a.)0.1V

b.)5V

c.)10V

d) V

15. In a FET the electrode, which corresponds to collector in bipolar transistor, is –

a.)source

b.)drain

c.)gate

d.)none

16. The device which acts like an NPN and a PNP transistor connected base to base and emitter to

collector is –

a.)Triac

b.)UJT

c.)Diac

d.)SCR

17. A typical optical fibre has –

a.)High refractive index core and low refractive index cladding

b.)Low refractive index core and high refractive index cladding

c.)Both a and b

d.)None

18. In the following figure circuit diagram of an op-amp based is shown. The ratio is equal to –

a.)9

b.)11

c.)10

d.)21

19. When a loud speaker is connected across the terminals A and B of the network shown in the fig.

then its impedance to obtain maximum power dissipation in it will be –

a.)3 – j1

b.)3 + j9

c.)7.5 + j 2.5

d.)7.5 – j 2.5

BSNL Recruitment Exam Question Paper with sample aptitude / reasoning / technical questions free

download here. Answers key /solutions coming shortly!

20. In the lattice network, the value of R for the maximum power transfer to the load –

a.)5

b.)6.5

c.)8

d.)9

21. For a lossy transmission line short circuited at the receiving end, the input impedance is given by

(Z0 is the characteristic impedance, Ö is the propagation constant and l is the length of the line

a.)Z0 cot h Öl

b.)Z0 cot Öl

c.)Z0 tan h.Ö l

d.) Z0 tan Öl

22. The approximate thickness of the radome wall should be –

a.)l

b.)l/4

c.)l/2

d.)l/

23 A relatively permanent information is stored in

a. )ROM

b.)RAM

c.)PROM

d.)Volatile memory

24. The rise time of the RC network shown in the given figure is approximately equal to –

b.) RC

c.) 2RC

d.) 4RC

25. If in the network shown in the fig. initially a steady state is attained by closing the switch ’s’ and

then if the switch is opened at t = 0, then the current i(t) through the inductor will be –

a.) cos50tA

b.) 2A

c.) 2cos100tA

d.) 2sin50tA

26. When the p network of figure – I and T-network of figure – II are equivalent then the values of R1,

R2 and R3 will be respectively –

a) 9W, 6W and 6W

b.) 6W, 6W and 9W

c.) 9W, 6W and 9W

d.) 6W, 9W and 6W

27. When the impedance matrices of a two port networks are given by and , then if these two networks

are connected in series then the impedance matrix of the resulting two-port network will be –

d.) indeterminate

28. Joule/coulomb is the unit of -

a.) Electric field potential

b.) Potential

c .) Charge

d.) None of the above

29. The electric field line and equipotential lines

a.)Are parallel to each other

b.)Are one and same

c.) Cut each other orthogonally

d.)Can be inclined to each other at any angle

30. For a lossy transmission line short circuited at the receiving end, the input impedance is given by

(When Z0 is the characteristic impendence g is the propagation constant and L is the length of the line

31. When two equal positive point charges are placed along X- axis at X1 and –X1 respectively then

the electric field vector at a point P on the positive Y-axis will be directed

a.)In the +x direction

b.) In the –x direction

c. ) In the +y direction

d.) In the –y direction

32. The directions of and in TEM mode transmission line with respect to the direction of propagation

are

a.)Both and are transverse to the direction of propagation

b.) is and are transverse and h has a component in the direction of propagation

c.) is entirely transverse and has a component in the direction of propagation

d.) is entirely transverse and has a component in the direction of propagation

33. The lowest TM mode in a rectangular waveguide of cross –section a x b with a>b will be

a.)TM01

b.)TE10

c.) TM112

d.)TE11

34. When a transmitter in a free space radiates a mean power of ‘p’ watts uniformly in all directions

then at a distance d sufficiently far from the source in plane the electric field E should be related to p and d as –

35. When a dipole antenna was radiating with some excitation in free space radiating a certain amount

of the power v if then this antenna is immersed in a lake where water is non-dissipative but has a dielectric constant of 81, then the radiated power with the same excitation will be

a.) Decrease to finite non-zero value

b.)Remain the same

c. )Increase

d.)Decrease to zero

36. When a (75 – j40)W load is connected to a coaxial line of Z0 = 75 W at 6MHz then the load

matching on the line can be accomplished by connecting

a.)A short – circuited stub at the load

b.)An inductance at the load

c. )A short circuited stub at a specific distance from the load

d.)none of the above

37. As compared to analog multimeter's, digital multimeter's are –

a.) less accurate

b.) more accurate

c.) equally accurate

d.) none.

38. When a signal of 10 mV at 75 MHz is to be measured then which of the following instruments can

be used –

a.) VTVM

b.) Cathode ray oscilloscope

c.) Moving iron voltmeter

d.) Digital multimeter

39. Which of the following statement is true about two wattmeter method for power measurement in

three phase current ?

a.) power can be measured using two wattmeter method only for star connected three phase circuits.

b.) when two meter show indentical readings, in the power factor is 0.5.

c.) when power factor is unit, one of the wattmeter reads zero

d.) when the reading of the two wattmeters are equal but of opposite sign, then the power factor is zero

–
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40. When a capacitance transducer has two plates of area 5cm2 each, separated by an air gap of 2mm

than the displacement sensitivity in pf/cm due to gap change would be –

a.) 11.1

b.) 44.2

c.) 52.3

d.) 66.3

41. The Q of a radio coil –

a.) is independent of frequency

b.) increases monotonically as frequency increases

c.) decreases monotonically as frequency increases

d.) increases upto a certain frequency and then decreases beyond that frequency

42. When a generator of internal impedance and operating at 1GHz feeds a load via a coaxial line of

characteristic impedance 50 ohm then the voltage wave ratio on the feed line is –

a.) 0.5

b.) 1.5

c.) 2.5

d.) 1.75

43. The coding system typically used in digital telemetry is –

a.) PPM (pulse position modulation)

b.) PAM (pulse amplitude modulation)

c.) PCM (pulse code modulation)

d.) PDM (pulse duration modulation)

44. Radiation pyrometers are used for the measurement of temperature in the range of –

a.) -2000C to 5000C

b.) 00C to 5000C

c.) 5000C to 12000C

d.) 12000C to 25000C

45. In the given figure band structure is shown. It is of –

a.) Gallium Avesenide (GaAs)

b.) Silicon (Si)

c.) Copper (Cu)

d.) Germanium (Ge)

46. When anode is positive with respect to cathode in an SCR, the numbers of blocked p-n junction is –

a.) 1

b.) 2

c.) 3

d.) 4

47. The circuit symbol for a GTO is

a. b.

c. d.

48. In the given fig. mark out the type of Cyclo converters

a.) 1 phase to 1 phase with continuous conduction

b.) 1 phase to 1 phase with discontinuous conduction

c.) step up device

d.) 3 phase to 1 phase device

49. In the given fig. A-1, C=5, m H and C=20 m F, C is initially charged to 200 V. After the switch.

S is closed at t = 0 the maximum value of current and the time at which it reaches this value are respectively.

a.) 400 A, 15.707 mS

b.) 50 A, 30 mS

c.) 100 A, 62.828 mS

d.) 400 A, 31.414 mS

50. In the given circuit the maximum current in the main SCR M can be

a.)200 A

b.) 170.7 A

c.) 141.4 A

d.) 70.7 A

51. The transfer function of an amplifier is given by The high 3-db frequency of the amplifier will approximately

a.) 5850 KHZ

b.)585 KHZ

c.) 5850 HZ

d.)585HZ

52. In comparison to full wave rectifier with two diodes the four divide bridge rectifier has the

dominant advantage of -

a). Higher current carrying

b.)Lower ripple factor

c.) Higher efficiency

d.)Lower peak increase voltage require

53. Power output increase in a class-c amplifier

a.)If the conduction angle decrease

b).If the conduction angle increase

c.) Are not governed by the conduction angle

d.)None of the above

54. A transistor with hie = 1.5 k and hfe = 75 is used in an emitter follower circuit where R1 and R2 are

used for normal biasing . Approximate value of it’s current amplification is

a.)75

b.)76

c.)75/76

d.)-75

55. Amplifier of class B has high theoretical efficiency of 78.5 percent because

a.)It is biased almost to saturation

b.)Its quiescent current is low

c.)It’s output is an exact replica of it’s input

d.)It is biased well below cut off

56. The coupling that produces minimum interference with frequency response is

a.)Direct coupling

b.)Impedance coupling

c.) R C coupling

d.)Transformer coupling

57. In the circuit shown in the given figure Rf provides

a.) Current series feedback

b.)Current shunt feedback

c.) Voltage series feedback

d.)Voltage shunt feedback

58. Mark the correct relation for the junction transistor

59. Data in the serial form can be converted into parallel form by using –

a.) PISO shift register

b.) SOIP shift register

c.) SIPO shift register

d.) POIS shift register

60. PROM's are used to store

a.) bulk information

b.) information to be accessed rarely

c.) sequence information

d.) relatively permanent information

61. The horizontal axis in a 3 bit unipolar D/A converter represents

a.)Output bit combination

b.) analog output voltage

c.) input bit combination

d.) none of the above

62. ‘Not allowed’ condition in NAND gate SR flip flop is –

a.) s = 0, R = 0

b.) s = 1, R = 1

c.) s = 0, R = 1

d.) s = 1, R = 0

63. Name the fastest logic family

a)TTL

b. RTL

c.) DCTL

d.) ECL

64. Equation corresponding to De Morgan’s theorem in Boolean Algebra is –

a.) (A+B) (A+B) = AA + AB + BA + BB

c.) A + AB = A

d.) None of the above

65. In the given fig find radix of the system –

a.) 2 b.) 4

c.) 6

d.) 8

66. Modems are used for data transmission telephone lines to –

a.) increase the transmission capacity

b) improve noice performance

c.) incorporate error control coding

d.) eliminate dc component in the transmitted signal

67. The figure of a control system is shown. The maximum value of gain K for which the system is

stable is

a.)

b.) 3

c.) 4

d.) 5

68. Identify the example of open-loop system

a.) A windscreen wiper

b.) Aqualung

c.) Respiratory system of an animal

d.) A system for controlling Anti-rocket missiles.

69. Consider the following expressions indicating the step or impulse response of an initially relaxed

control system-

1. (5 – 4e-2+) u(t)

2. (e-2t +5) (u(t))

3 .V(t) + 8e-2t u(t)

4 . V(t) + 4e-2t 4(t)

Those which correspond to the step and impulse response of the same system include

a.) 1&3

b.) 1&4

c.) 2&4

d.) 1&4
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70. A system is described by To test its stability by Lyapunov’s method the following V functions are considered. Mark the most suitable V-function in this case

a.)Only V1

b.)Only V2

c.) Both V1 and V2

d.) Neither V1 nor v2

71. Identity the polar plot of a typical type zero system with open loop transfer function

72. The scattering matrix of a magic –tee shown in the given figure is-

73. Which is the following relate to rational transfer function of a system-

1. Ratio of Fourier transform of output to input with zero initial conditions.

2. Ratio of Laplace transform of output to input with zero initial conditions.

3. Laplace transform of system impulse response.

4. Laplace transform of system unit step response select the correct answer using the codes given

below. Codes

a.) 1 and 4

b.) 2 and 3

c.) 1 and 3

d.) 2 and 4

74. For the signal g (t) – 10 cos (50 pt) cos2 (150at)

The Nyquist sampling state in t seconds is

a.) 150 samples per second

b.) 200 samples per second

c.) 300 samples per second

d.) 350 samples per second

75. In the case of a 70 MHz 1F carries for a transponder band width of 36 MHz; energy must lie

between – MHz.

a.) 34 and 106

b.) 52. And 88

c.) 106 and 142

d.) 34 and 142

76. Radar used to eliminate clutter in navigational application is –

a.) Pulse radar

b.) Tracking radar

c.) MTI radar

d.) Mono pulse radar

77. The 1.55 mm windows is not yet in use with fiber optic systems because –

a.)The attenuation is higher than at 0.85 mm

b) The attenuation is higher than at 1.3mm

c.) Suitable laser devices have not yet been developed

d.) It does not lend itself to wavelength multiplexing

78. Pre-emphasis in FM systems involves

a.)Compression of the modulating signal

b.) Expansion of the modulating signal

c.) Amplification of lower frequency components of the modulating signal.

d.) Amplification of higher frequency components of the modulating signal.

79. In a terrestrial microwave system transmission of signals is achieved through

a.)reflection from the ionosphere

b.) line of sight mode

c) reflection from the ground

d.) diffraction from the stratosphere.

80. Casse grain feed is used with a parabolic reflector to

a.) increase the gain of the system

b). increase the bandwidth of the system

c.) reduce the size of the main reflector

d.) allow the feed to be placed at a convenient point.

81. In most microwave communication link rain drop attenuation is caused due to

a.)scattering of microwaves by water drops of specific size.

b) scattering of microwaves by a collection of droplets acing as a single body.

c.) absorption of microwaves by water and consequent heating of the liquid

d.) absorption of the microwaves by water vapor in the atmosphere.

82. Circuit in the given figure represents. –

a.) an astable multivibrator

b.) A monostable multivibrator

c.) Voltage controlled oscillator

d.) Ramp generator

83. . D = r is

a.)Maxwell’s 1st equation

b.) Maxwell’s II equation

c.) Maxwell’s III equation

d.) Maxwell’s IV equation

84. In a rectangular wave-guide which TM mode exists

a.)TM00

b.) TM01

c.) Tm10

d.) TM11

85. In directional coupler a portion of power two velliry fram port 1) to port 2) is coupled to.

a). port 4

b). port 3

c. port 2.

d.) port 3 & 4.

86. For high power i.e. 10 w to 50 kw measurement –

a.) Barometer are used

b.) Thermisters are used

c.) Calorimetric technique

d.) Calorimetric watt meter technique used

87. The difference between TWT & klystron is –

a.) In TWT electrons are in contact with RF field for long time & in klystron for short time

b.) In klystron electrons are in contact with RF field for long time & in TWT for short time

c.) In klystron there is no contact in RF field & electrons while in TWT there is contact

d.) In TWT phase is no contact is RF field & electrons while in klystron there is contact

88. Which one is most suitable for transmission through wave guide

a.) Hown antennas

b.) Bioconical antennas

c.) helical antenna

d. Discone

89. The skip distance of microwave is given by –

a.)

b.)

c.)

d.)

90. How many general purpose registers 8085mp

a.) 4

b.) 6

c.) 8

c.) 10

91. 8085 mP has no. of addressing modes

a.) 2

b.) 3

c.) 4

d.) 5

92. What will be status of z and c y flag after execution of SUB A instruction

a.) z = 0, cy = 0

b.) z = 0, cy = 1

c.) z = 1, cy = 0

d.) z = 1, cy = 1

93. Microprocessor accept interrupt only if.

a.) interrupt flip flop disabled.

b.) when INTA signal is low.

c. interrupt flip flop enabled.

d.) none of above.

94. Microprogramming is a technique

a.) for programming the microprocessor

b.) for writing small programs efficiently

c.) for programming the control steps of computer

d.) for programming o/p / i/p

95. High level programs like C are converted into machine language with the help of

a.) interpreter

b.) compiler

c.) operating

d.) system

96. (10110011)2 = (?)8

a.) 253

b.) 263

c.) 273

d.) 283

97. A Not gate at the output of AND gate converts AND gate into

a.) NAND

b.) NOR

c.) AND

d.) NOPE.

98. The O/P of a logic gate is the gate must be

a.) AND

b.) OR

c.) NAND

d.) X-OR

99. 38. A symbol of JK flip flop is-
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100. A demultiplener

a.) has multiple i/p and single o/p

b.) has multiple i/p and multiple o/p

c.) has multiple i/p and multiple o/p

d.) has single i/p and single o/p

101. Which of the following best describes the authour`s attitude toward fairy tales ?

a.) fascination

b.) open approval.

c.) Indulgent tolerance.

d.) Scornful.

102. What type of sentence is this ?

Hurray! We won the match

a.) Exclamatory

b.) assertive

c.) Negative

d.) Affirmative

103. Before which of the following word will you put ‘a’

a.) hour

b.) M. A.

c.) Umbrella

d.) Man

104. The noun form of ‘fresh’ is –

a.) freshly

b.) freshen

c.) fresheners

d.) fresh itself

105. The word ‘clang’ is an example of –

a.) Simile

b.) inversion

c.) onomatopoeia

d.) irony

106. The Forbes magazine acclaimed Azim Premji as richest India’s is the chairman of

a.) Pentafour software

b)  Infosys

c.) IBM

d.) Wipro

107. Bharat Ratna award for the year 2001 goes to

a.)Lata Mangeshkar and Zakeer Hussain

b.) Zakeer Hussain and Bismillah Khan

c.) Bismillah Khan and Lata Mangeshkar

d.) Lata Mangeshkar and Ustad Amzad Ali Khan

108. Mr. George W-Bush takes over as —— President of the united states of America succeeding Mr.

Bill Clinton

a.) 42nd

b.) 43rd

c.) 40th

d.) 45th

109. New Chief Minister of Pondicherry is

a.) T. Venkat Naidu

b.) K. Hari Harh

c.) N. Rengaswany

d.) M. Mudliar

110. No court has the jurisdiction to interfere with the election process once set in motion by the

Election commission. This is enshrined in Article

a.)311

b.) 329

c.) 356

d.) 365

111. Ostrich is a

a.) Running bird

b.) Flying bird

c) Swimming bird

d.) Migratory bird

112. The main atmospheric gas responsible for green house is

a.) Oxygen

b.) Nitrogen

c.) Ozone

d.) Carbon-dioxide

113. Which of the following is not a Kharif Crop

a.) Rice

b.) groundnut

c.) Sugarcane

d.) gram

114. The function of World Bank is to

a.) Help in reconstruction and development of world economy

b.) Facilitate poor countries to trade on concessional rates

c.) Promote growth of international trade and equilibrium in balance of payments

d.) Ease trade barriers and establish rule of fair trade

115. Speed of sound is maximum in

a.)Water

b.) Air

c.) Steel

d.) Vacuum

116. “Long years ago we made a trust with destiny.” Whose words are these

a.) Subhash Chandra Bose

b.) Jawaharlal Nehru

c.) Lajpat Rai

d.) Bhagat Singh

117. Durand cup is associated with

a.) Hockey

b.) Tennis

c.) Football

d.) Badminton

118. Rabindranath Tagore was awarded the Nobel Prize in literature in the year.

a.) 1908

b.) 1910

c.) 1913

d.) 1914

119. India successfully conducted its first underground nuclear experiment at Pokhran in Rajas than on

a.) May 18, 1975

b.) May 20, 1974

c) May 17, 1974

d.) May 17, 1974

120. An emergency loan of $ 500 million to help reconstruct infrastructure in earth quake devastated

Gujarat approved by

a.)Asian development Bank

b.)World Bank

c.)Swiss Bank

d.)Reserve Bank of India
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1. Of the following bridges the one which can be used for the measurement of dielectric loss of a

capacitor is –

a.) Schering bridge

b) Heaviside campbell equal ratio voltage

c) Owen bridge

d) Anderson bridge

2. LBDT is uses as a –

a). Displacement transducer

b) Pressure transducer

c) Temperature

d.) Any of the above

3. Polarization is a measure of -

a.) Dielectric constant per unit volume.

b.)Voltage gradient to produce electrical breakdown

c.) Product of charge and distance

d.)Excess charge density

4. Compared to the inductive type of transducer, capacitive transducer is superior for the measurement

of displacement because of -

a.)Absence of non-linearity

b.) High frequency response

c.) Small size

d.) High accuracy

5. An incremental model of a solid state device is one which represents the –

a.) ac property of the device at the desired operating point

b.)dc property of the device at all operating points

c.)Complete ac and dc behaviour of the device at all operating points

d.)ac property of the device at all operating points.

6. The ac resistance of a forward biased p-n junction diode operating at a bias voltage ‘V’ and carrying

current ‘I’ is –

a. )Zero

b. )a constant value independent of Vand I

c.)

d.)

7. A meter is shielded with a soft iron to –

a. )Prevent damage from rough use

b.) Keep moisture out of movement

c. )Protect meter movement from stray magnetic fields

d.) Achieve all of the above

8. A capacitor that has been connected across a battery for comparatively long time becomes–

a. )Charged

b.) Discharged

c.) Short - circuited

d.) Defective

9. The charge on the plates of a capacitor is given by the expression –

a.) Q = VI

b.) Q = IR

c.) Q = CV

d.) Q = IC

10. Silicon steel used for electrical purposes has silicon percentage of –

a. )0.5

b.) 2.5

c.) 3.4

d). None

11. The feature of VTM is its –

a. )Low input impedance

b. )Low power consumption

c. )The ability to measure wider ranges of voltage and resistances

d). None

12. In an N-type semiconductor, the position of the fermi level –

a. )Is lower than the centre of the energy gap

b.) Is at the centre of the energy gap

c.)Is higher than the centre of the energy gap

d. )Can be anywhere depending upon the doping concentration

13. A JFET can operate in –

a.) depletion and enhancement model

b. )depletion mode only

c. )enhancement mode only

d.) neither enhancement nor depletion mode

14. Consider the following semiconductor diodes –

a. )Germanium diode

b.)Silicon diode

c.) Tunnel diode

d.) Schottky diode

15. A diode with a PIV of 50V is likely to break down when rectifying 50v ac supply because –

a.) it is made of defective material

b.) it is incorrectly connected to the supply

c.) peak value of ac supply exceeds the PIV value

d. ac supply is of extremely high frequency.

16. The set of transistor characteristics that enables a to be determined directly from the slope is –

a.) CE transfer characteristics

b. CE output characteristics

c.) CB transfer characteristics

d.) CB input characteristics

17. For an N-channel JFET, the drain voltage has to be –

a.) positive with respect to the source

b.) negative with respect to the source

c.) uncharged with respect to the source

d.)none

18. The SCR is often employed as a –

a. )Source-controlled switch

b. )Drain-controlled switch

c.) Gate-controlled switch

d) None

19. An oscilloscope has an input impedance consisting of 1MW and 20pF in parallel. A high impedance

probe connected to the input of this oscilloscope has a 10MW series resistance, this 10MW resistance –

a.) Need not be shunted

b.) Should be shunted by a 2pF capacitor

c.) Should be shunted by a 20pF capacitor

d. Should be shunted by a 200pF capacitor

20. Compared to silicon, gallium arsenide (GaAs) has –

a. )Easier to grow crystals since the vapour pressure of arsenic is high

b. )Higher optolectronic conversion efficiency

c.) Both a and b

d). None

21. When the network shown in the fig draw a current I and if the ends ab are shorted, the current

drawn would be –

a.) I

b.) I\ 4

c.) 4 I

d.) 2 I

22. When all the resistances in the circuit are of one ohm each, then the equivalent resistance across the

points A and B will be –

a.)1W

b.) 0.5W

c.) 2W

d). 1.5W

23. Of the following periodic waveforms the one having only odd harmonics of sinusoidal waveform

is

a. )1 and 2

b. ) 1 and 3

c. )1 and 4

d. )2 and 4

24. When in the network shown in the given fig, the switch K is dosed at t = 0 with the capacitor

uncharged then the value for at t = 0+ will be –

a. )100 amp./sec.

b. )–100 amp./sec.

c. )1000 amp./sec.

d. )–1000 amp./sec.
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25. For the circuit shown in the given figure, the voltage VAB is –

a. )6V

b.)10V

c. )25V

d. )40V

26. In the network shown in the given fig. current i = 0 when E = 4V, I = 2A and I = 1A when E = 8V, I

= 2A. The The venin voltage and the resistance into the terminals AB are –

a. )4V, 2W

b.) 4V, 4W

c.) 8V, 2W

d.) 8V, 4W

27. The effective resistance between the terminals A and B in the circuit shown in the fig. is –

R

a.) R

b.) R-1

c.) R/2

d.) 6/11 R

28. When in a two terminal network, the open circuit voltage measured at the given terminals by an

electronic voltmeter is 100V and a short circuit current measured at the same terminals by an ammeter

of negligible resistance is 5A then if a resistor of 80W is connected at the same terminal, then the

current in the load resistor will be –

a. 1A

b.) 1.25A

c). 6A

d. 6.25A

29. If for the network shown in the following fig. the value of Z(s) is then the value of C and R are

respectively –

30. In Faraday’s induction phenomenon, a changing magnetic field is accompanied by an electric field.

Which of the following equation or equations represents it-

31. The electric potential due to an electric dipole of length L at point distance r away from it will be

doubled if the -

a. ) Length L of the dipole is doubled

b. ) r is doubled

c. ) r is halved

d ) L is halved

32. When a particular mode is excited in a waveguide there appears an extra electric component in the

direction of propogation . The resulting mode is

a. ) Longitudinal electric

b. ) Transverse electromagnetic

c. ) Transverse magnetic

d ). Transverse electric

33. When for a transmission line the open circuit and short circuit impedance are 20W and 5 W

respectively then the characteristic impedance of the line is -

a. ) 100 Ohms

b ). 50 Ohms

c. ) 25 Ohms

d. ) 10 Ohms

34. In an ideal transmission line with matched load, the voltage standing wave ratio and reflection

coefficient are respectively -

a. ) 1 and 1

b ). infinity and 1

c ) infinity and 0

d. 1 and 0

35. When an electric charge of 100 coulombs is enclosed in sphere of radius 100 m then the electric

displacement density ( in coulomb / m2) D is –

a. ) 0.0833

b ). 0.833

c. ) 1.666

d. ) 10

36. For the dominant mode in a rectangular wavelength with breadth 10 cm, the guide wavelength for a

signal of 2.5 GHz will be -

a. ) 12 cm

b. ) 15 cm

c. ) 18 cm

d. ) 20 cm

37. When the phase velocity of an electromagnetic waves depends on frequency in any medium, the

phenomenon is called

a.) Scattering

b. )Polarization

c. ) Absorption

d. ) Dispersion

38. Antennas commonly used for microwave links are -

a. ) Loop antenna

b. ) Log-periodic antennas

c. ) Paraboloidal dishes

d ). Rhombic antennas

39. One of the following instrument which may be used to measure the optical activity of compounds is

a. )Infrared spectrometer

b. ) Atomic absorption spectrometer

c. ) Polarimeter

d. ) Flouroscope

40. Schering bridge measures –

a. )Capacitance dielectric loss

b. ) Inductance

c. )Resistance

d. ) Mutual inductance

41.When a square wave is fed to an RC circuit, then –

a. ) voltage across R is square and across C is not square

b. ) voltage across C is not square and across R is not square

c. ) voltage across both R and C are square

d. ) voltage across both R and C are not square

42. The time constant of the RC circuit is –

a. ) less than the time period of the input square wave.

b ). much larger than the time period of the input square wave.

c. equal to the time period of the input square wave.

d ). none

43. Harmonic distortion for each frequency can be obtained by harmonic analyser of the –

a. )heterodyne type

b. ) tuned circuit type

c. ) fundamental suppression type`

d. ) bridge circuit type.

44. A three phase wattmeter requires –

a ). only two current coils and two pressure coils

b. )only one current coil and two pressure coil

c. ) only two current coils and one pressure coil

d. ) only current coil

45. A low pass filter circuit is basically –

a. ) a differentiating circuit with low time constant

b. ) a differentiating circuit with large time constant.

c. ) an integrating circuit with low time constant.

d. )an integrating circuit with large time constant.

46. If the differential pressure in restriction type flow measuring devices is then the flow will be

proportional to –

47. When a system is represented by the transfer function then the dc gain of this system is –

a.) 1

b.) 2

c.) 5

d.) 10

48. Silicon based semiconductor device called thyristor was first fabricated by –

a). Jell laboratories in U.S.A

b). Maxwell laboratories in U.S.A

c.) Bell laboratories in U.S.A

d). GEC laboratories in U.S.A

49. A semiconductor based temperature transducer has a temperature coefficient of –2500mV/0C. This

transducer is indeed a –

a.)Thermistor

b.) Forward biased pn junction diode

c. )Reverse biased pn junction diode

d.) FET
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50. Which of the followings pairs of Telemetry situations and Modulation techniques and conditions is

correctly matched

a. )Pulse amplitude modulation Low amplitude signals

b. )Pulse position modulation For short distance when power is enough

c.) Pulse width modulation Power to be spent in telemetry is required to be low

d.) Pulse code modulation. Minimization of interference effects.

51. The SCR ratings di/dt in A/m sec and dv/dt in n/m sec, may vary, respectively between

a.) 20 to 500, 10 to 100

b. )both 20 to 500

c.) both 10 to 100

d.) 50 to 300, 20 to 500

52. Match the given controlled rectifiers with 50 Hz supply

a. )1 phase full converter with source inductance

b. )3 phase full converter

c.)3 phase semiconductor

d. )3 phase halls wave converter

53. For natural or forced commutation the cyclo converters (CCs) requires as under.

a) natural commutation in both step up and step down CCs

b.) forced commutation in both step up and step down CCs

c.) forced commutation in step up CCs

d). forced commutation in step down CCs

54. The peak inverse voltage in ac to dc converter system is highest in

a). single phase full wave mid point converter

b). single phase full converter

c) 3 phase bridge converter

d). 3 phase half wave converter.

55. A single phase full converter feeds power to RLE load with R = 6 W L = 6 MH and E = 60 V. The

ac source voltage is 230 V, 50 Hz, For continuous conduction, the average value of load current for a

firing angle delay of 50 is

a.)12.181 A

b). 14.81 A

c). 16.76 A

d.) 32.40 A

56. Which one of the following is the Fourier transform of the signal given in fig. B if the Fourier

transform of the signal in fig A is given by -

57. What is 215 complement of 00011100-

a.) 11100011

b.) 10001100

c.) 11100100

d.) 10000111

58. In C programming a expression contains relational operators, assignment operators and arithmetic

operators if parentheses is absent then execution follows

a.) assignment, relational, arithmatic

b.) arithmatic, relational, assignment

c.) relational, arithmatic, assignment

d.) assignment, arithmatic, relational

59. In semiconductor memory information stored in form

a.) binary

b.) hexadecimal

c.) octal

d.) ASCII

60. i\p to Not gate gives o/p as

a.) inversion of some bits

b.) 2’s complement of i\p

c.) 1’s complement of i\p

d.) o/p is some as i\p

61. A negative logic means

a.)logic 0 and 1 are represented by a +ve voltage respective

b). logic 0 and 1 are presented as –ve and +ve voltage

c. )logic 0 voltage is higher than logic 1 voltage level

d.) logic 0 voltage is lower than logic 1 voltage level

62. For designing D flip flop from SR FF a circuit is aloud at 01p of SR FF is

a.) AND

b.) OR

c.) NOR

d.) NOT

63.The transistor shown in fig is

a. ) Silicon, NPN with Ic = 0.5 mA

b.) Silicon PNP with Ic = 0.5 mA

c.) Germanium PNP with IE = 0.5 mA

d.) Germanium NPN with Ic=0.5 mA

64.A 20,000 Ohms per volt meter will deflect full-scale with a current of -

a.) 50 mA

b.) 50 mA

c.) 100 mA

d.) 1000 mA

65. A plate modulated class –CRF power amplifier produces 100 KW of radiated power at 100 %

modulation. The modulating audio amplifier supplies approximately ——– kW of this power

a.)50

b).33

c).22

d).11

66..An amplifier without feedback has a distortion of 15 % and gain of 40. When 10% negative

feedback is applied the distortion will become

a.) 50 %

b). -45 %

c). 3%

d). -5%

67. MODEM implies

a.)Modulator at transmitting side and detector at the receiving side

b.)Which deals with analog signals and shows digital information

c.)Analog to digital at transmitting side and digital to analog at a receiving side

d).A device which deals with digital signals only

68. Twisted ring and ring counters are examples of –

a. )Synchronous counters

b.) Asynchronous counters

c.) both a and b

d.) None of the above

69. Specify Non characteristic flip flop in the following –

a.) The outputs are complement of each other

b.) The flip flop has two input signals

c.) The flip flop has two output signals

d). The flip flop is a bistable devise with only two stable states
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70. The voltage obtained when digital input is 001 is a 3 bit R-2R ladder DIA converter is

a.) VR/22

b.) VR/21

c.) VR/23

d.) none of the above

71. Identify NOT an octal number

a.) 19

b). 15

c.) 77

d.) 101

72. The set of binary digits 01000100 represents

a.) number 6810 in a pure binary computer

b.) number 44 in 8421 BCD code

c) Both a and b

d.) None of the above

73. The system matrix of a continuous time system, described in the state variable form is –

The system is stable for all values of x and y satisfying –

a.)x < 1/2, y < 1/2

b). x < 0, y < 2

c. )x > 1/2 , y >0

d.) x < 0 , y < 1/2

74. The break away and break in point in the root locus for open loop transfer function G(S) H(S) = are

located respectively at –

a). –2 and -1

b). –2.47 and –3.77

c.) –4.27 and –7.73

d.) –7.73 and –4.27

75. The transfer function for the given system shown in figure is –

76. The type and order of the system whose Nyquist plot is shown in fig is

a.) 0.1

b.) 1,2

c.) 0,2

d). 2,1

77. The overall transfer function in a second order is given by-Its resonant frequency is -

a.) 2

b.)

c).

d.) 3

78. The detection of an AM waveform in an Envelope –

a.)One side band and full amplitude carrier are needed

b.) Both side bands and full amplitude carrier are needed

c). Only two side bands are needed

d). Upper side band and part of carriers are needed

79. Satellite used for intercontinental communication is known as –

a.) Comsat

b). Dom sat

c.) Mari sat

d). Intelsat

80. Mark out non submarine cable –

a. )TAT – 7

b.) INTELSAT V

c.) ATLANTIS

d. )CANTAT 2

81. The capacity of an analog communication channel with 4kHz bandwidth and 15 dB SNR is

approximately

a). 20,000 bps

b). 16,000 bps

c.) 10,000 bps

d.) 8,000 bps

82. The blind speed of an MTl radar can be avoided by changing the

a.) Carrier frequency

b.) Pulse repetition frequency

c. )Antenna rotation rate

d.) Transmitted power

83. The output voltage in a feedback series regulator circuit is regulated by controlling the

a.)Magnitude of the input voltage

b.) Gain of the feedback transistor

c.) Reference voltage

d.) Voltage drop across the series pass transistor

84. Indicate the signal not transmitted in colour TV

a.)Y

b.)Q

c.)R

d.)I

85. As frequency of singal increases

a.) Directivity increases & beam width increases

b.) Directivity & beam width decreases

c.) Directivity increases & beam width decreases

d.) Directivity decreases & beam width increases

86. The number of hardware interrupts (which require an external signal to interrupt) present in on 8085mP are

a). 1

b). 4

c.) 5

d.) 13

87. Highest priority interrupt is

a.)INTR

b.)RST 7.5

c.)RST 6.5

d.)TRAP

88. One instruction cycle means

a. )Time require to execute set of instructions

b. )Time require to execute one instruction

c.) Time require to complete one operation of accessing memory, or I/o

d.) None of above

89. If the clock freq. is 5 mH3 how much time is required to execute on instruction of 18 T-states

a.) 3.6 msec.

b.) 36 m sec.

c.) 36 m sec.

d.) 36 sec.

90. In data transfer operation which flog get affected

a.)zero flog

b.)carry flog

c.)sign flog.

d.) none

91. CMP instruction comes under group -

a. )Data transfer

b. )Brouching operations

c). Machine control operation

d.) logical operations

92. The logic operation

a.)are performed in relation to content of Accemce lotor

b).can be performed directly with content of the register.

c.)are performed without content of a

d.)none of above.

93. What happen when PUSH instruction executed -

a.) data retrieved from stock to register

b.) data from register saved on the stock.

c.) 16 bit address of instruction saved on stock.

d.) 16 bit address from stock retrieved

94. SIM stands for

a.) serial interface memory

b.) set interrupt mosk

c.) set if minus

d.) set internal memory

95. Maximum clock frequency required to operate 8085-

a. )2 MHz

b.) 3 MHz

c) 6 MHz

d. )9 MHz

96. ASCII code is

a). 7 bit

b). 8 bit

c.)16 bit

d.) 32 bit.

97. In memory mapped I/O address lines area.

a.) 8

b.) 16

c.) 32

d.) 64

98. The parity bit adding technique is used for -

a. )Indexing

b. )Coding

c. )Error detection

d. )Controlling

99. A demultiplexer

a.)has multiple i/p and single o/p

b.) has single i/p and multiple o/p

c.) has multiple i/p and multiple o/p

d.) has single i/p and single o/p
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100. Subroutines are useful

a.)to reduce storage requirements

b.) to increase programming speed and reduce storage

c.) most applications are same

d.) but increases expense

101. As daring goes with temerity same way clear-sighted with –

a. )Perspicacity

b.) Impulsiveness

c.)Energy

d. )Clemency

102. A man who visits his friend is a –

a. )Host

b. )Guest

c. )Master

d.) Owner

103. Zealot is –

a. )beginner

b.) Patron

c.) fanatic

d.) Murderer

104 Give the plural of ‘Mouse’ –

a. )Mouse’s

b). Mice

c). Mouse

d). None

105. Find the part of speech of the underlined word – Shama and Radha were playing together.

a. )Preposition.

b. )Noun

c. )Conjunction.

d) Verb.

106. Which of the following is not one of the multiple names of ganesha?

a). Vinayaka

b). Lambodra

c.) Ekadanta

d.) Vighneshwara

e. )all of the above

107. If a man weighs 60 Kilograms on earth, how much will be his weight on the moon?

a. )50 kg

b. )40 kg

c. )20 kg

d. )10 kg

108. The only Indian star selected for waxing at the famous Madame Tussaud’s wax is

a.)Salman Khan

b.)Amitabh Bachan

c.)ShahRukh Khan.

d.)Raj Kapoor

109 Rate of growth of per capita income in India drops down to – percent in 2000-2001-.

a. )5.3 percent

b. )3.5 percent

c. )4.8 percent

d. )8.4 percent

110. Ascorbic acid is the chemical name of

a. )Vitamin A

b. )Vitamin B

c. )Vitamin C

d.) Vitamin D

111. All India Muslim League was founded by

a. )Nawab Slimullah Khan

b. )Sir Mohd Iqubal

c.) Sir syed Ahmed Khan

d.) Moulana Shaukat Ali

112. Red Blood corpuscles are formed in

a.)Marrow

b.) Kidney

c). Liver

d). heart

113. The southern most tip of India is in

a.)Lakshadweeep

b.) Kanya Kumari

c.)Andaman and Nicobar Islands

d.)Rameswaram

114 The first bowler in cricket history to take 500 test wickets is

a.) Imran Khan

b). Courtney Walsh

c). Shane Warne

d.) Muttiah Murlidharan

115 President of the National Consumer Disputes Redress al Commission (NCDRC) is

a.) Mr. D.C Wadhwa

b). Mr. A. P Wadhwa

c.) Mr. A. C Wadhwa

d.) Mr. D. P Wadhwa

116. C.V. Raman got Nobel Prize for

a.)Themodynamics

b.) Quantum theory

c. )Optics and spectroscopy

d.) Nuclear Physics

117. First governor general of Bengal

a.) Lord Clive

b.) Lord warren Hastings

c. )Lord Lytton

d.) Lord Ripon

118. The slogan “Do or Die” is associated with

a.) Subhash Chandra Bose

b.) Gandhigi

c.) Harijan

d.) Satyagraha

119. Champaran is in the state of

a.) Gujarat

b.) Maharashtra

c.) Bihar

d). Madhya Pradesh

120. These tribes are found in central Asia

a.)Garos

b.)Kirghiz

c.) Lushai

d). Santhals
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1. Of the following bridges the one which can be used for the measurement of dielectric loss of a

capacitor is –

a.) Schering bridge

b) Heaviside campbell equal ratio voltage

c) Owen bridge

d) Anderson bridge

2. LBDT is uses as a –

a). Displacement transducer

b) Pressure transducer

c) Temperature

d.) Any of the above

3. Polarization is a measure of -

a.) Dielectric constant per unit volume.

b.)Voltage gradient to produce electrical breakdown

c.) Product of charge & distance

d.)Excess charge density

4. Compared to the inductive type of transducer, capacitive transducer is superior for the measurement

of displacement because of -

a.)Absence of non-linearity

b.) High frequency response

c.) Small size

d.) High accuracy

5. An incremental model of a solid state device is one which represents the –

a.) ac property of the device at the desired operating point

b.) dc property of the device at all operating points

c.) Complete ac & dc behaviour of the device at all operating points

d.)ac property of the device at all operating points.

6. The ac resistance of a forward biased p-n junction diode operating at a bias voltage 'V' & carrying

current ‘I’ is –

a. )Zero

b. )a constant value independent of Vand I

c.)

d.)

7. A meter is shielded with a soft iron to –

a. )Prevent damage from rough use

b.) Keep moisture out of movement

c. )Protect meter movement from stray magnetic fields

d.) Achieve all of the above

8. A capacitor that has been connected across a battery for comparatively long time becomes–

a. )Charged

b.) Discharged

c.) Short - circuited

d.) Defective

9. The charge on the plates of a capacitor is given by the expression –

a.) Q = VI

b.) Q = IR

c.) Q = CV

d.) Q = IC

10. Silicon steel used for electrical purposes has silicon percentage of –

a. )0.5

b.) 2.5

c.) 3.4

d). None

11. The feature of VTM is its –

a. )Low input impedance

b. )Low power consumbtion

c. )The ability to measure wider ranges of voltage & resistances

d). None

12. In an N-type semiconductor, the position of the fermi level –

a. )Is lower than the centre of the energy gap

b.) Is at the centre of the energy gap

c.)Is higher than the centre of the energy gap

d. )Can be anywhere depending upon the doping concentration

13. A JFET can operate in –

a.) depletion & enhancement model

b. )depletion mode only

c. )enhancement mode only

d.) neither enhancement nor depletion mode

14. Consider the following semiconductor diodes –

a. )Germanium diode

b.)Silicon diode

c.) Tunnel diode

d.) Schottky diode

15. A diode with a PIV of 50V is likely to break down when rectifying 50v ac supply because –

a.) it is made of defective material

b.) it is incorrectly connected to the supply

c.) peak value of ac supply exceeds the PIV value

d. ac supply is of extremely high frequency.

16. The set of transistor characteristics that enables a to be determined directly from the slope is –

a.) CE transfer characteristics

b. CE output characteristics

c.) CB transfer characteristics

d.) CB input characteristics

17. For an N-channel JFET, the drain voltage has to be –

a.) positive with respect to the source

b.) negative with respect to the source

c.) uncharged with respect to the source

d.)none

18. The SCR is often employed as a –

a. )Source-controlled switch

b. )Drain-controlled switch

c.) Gate-controlled switch

d) None

19. An oscilloscope has an input impedance consisting of 1MW & 20pF in parallel. A high impedance

probe connected to the input of this oscilloscope has a 10MW series resistance, this 10MW resistance –

a.) Need not be shunted

b.) Should be shunted by a 2pF capacitor

c.) Should be shunted by a 20pF capacitor

d. Should be shunted by a 200pF capacitor

20. Compared to silicon, gallium arsenide (GaAs) has –

a. )Easier to grow crystals since the vapour pressure of arsenic is high

b. )Higher optolectronic conversion efficiency

c.) Both a & b

d). None

22. When all the resistances in the circuit are of one ohm each, then the equivalent resistance across the

points A & B will be –

a.)1W

b.) 0.5W

c.) 2W

d). 1.5W

23. Of the following periodic waveforms the one having only odd harmonics of sinusoidal waveform

is

a.)1 & 2

b.) 1 & 3

c. )1 & 4

d. )2 & 4

28. When in a two terminal network, the open circuit voltage measured at the given terminals by an

electronic voltmeter is 100V & a short circuit current measured at the same terminals by an ammeter of

negligible resistance is 5A then if a resistor of 80W is connected at the same terminal, then the current

in the load resistor will be –

a. 1A

b.) 1.25A

c). 6A

d. 6.25A

31. The electric potential due to an electric dipole of length L at point distance r away from it will be

doubled if the -

a. ) Length L of the dipole is doubled

b. ) r is doubled

c. ) r is halved

d ) L is halved

32. When a particular mode is excited in a waveguide there appears an extra electric component in the

direction of propagation . The resulting mode is

a. ) Longitudinal electric

b. ) Transverse electromagnetic

c. ) Transverse magnetic

d ). Transverse electric

33. When for a transmission line the open circuit & short circuit impedance are 20W & 5 W

respectively then the characteristic impedance of the line is -

a. ) 100 Ohms

b ). 50 Ohms

c. ) 25 Ohms

d. ) 10 Ohms

34. In an ideal transmission line with matched load, the voltage standing wave ratio & reflection

coefficient are respectively -

a. ) 1 & 1

b ). infinity & 1

c ) infinity & 0

d. 1 & 0

35. When an electric charge of 100 coulombs is enclosed in sphere of radius 100 m then the electric

displacement density ( in coulomb / m2) D is –

a. ) 0.0833

b ). 0.833

c. ) 1.666

d. ) 10

36. For the dominant mode in a rectangular wavelength with breadth 10 cm, the guide wavelength for a

signal of 2.5 GHz will be -

a. ) 12 cm

b. ) 15 cm

c. ) 18 cm

d. ) 20 cm

37. When the phase velocity of an electromagnetic waves depends on frequency in any medium, the

phenomenon is called

a.) Scattering

b. )Polarization

c. ) Absorption

d. ) Dispersion

38. Antennas commonly used for microwave links are -

a. ) Loop antenna

b. ) Log-periodic antennas

c. ) Paraboloidal dishes

d ). Rhombic antennas

39. One of the following instrument which may be used to measure the optical activity of compounds is

– 

a. )Infrared spectrometer

b. ) Atomic absorption spectrometer

c. ) Polarimeter

d. ) Flouroscope

40. Schering bridge measures –

a. )Capacitance dielectric loss

b. ) Inductance

c. )Resistance

d. ) Mutual inductance

41.When a square wave is fed to an RC circuit, then –

a. ) voltage across R is square & across C is not square

b. ) voltage across C is not square & across R is not square

c. ) voltage across both R & C are square

d. ) voltage across both R & C are not square

42. The time constant of the RC circuit is –

a. ) less than the time period of the input square wave.

b ). much larger than the time period of the input square wave.

c. equal to the time period of the input square wave.

d ). none

43. Harmonic distortion for each frequency can be obtained by harmonic analyser of the –

a. )heterodyne type

b. ) tuned circuit type

c. ) fundamental suppression type`

d. ) bridge circuit type.

44. A three phase wattmeter requires –

a ). only two current coils & two pressure coils

b. )only one current coil & two pressure coil

c. ) only two current coils & one pressure coil

d. ) only current coil

45. A low pass filter circuit is basically –

a. ) a differentiating circuit with low time constant

b. ) a differentiating circuit with large time constant.

c. ) an integrating circuit with low time constant.

d. )an integrating circuit with large time constant.

46. If the differential pressure in restriction type flow measuring devices is then the flow will be

proportional to –

47. When a system is represented by the transfer function then the dc gain of this system is –

a.) 1

b.) 2

c.) 5

d.) 10

48. Silicon based semiconductor device called thyristor was first fabricated by –

a). Jell laboratories in U.S.A

b). Maxwell laboratories in U.S.A

c.) Bell laboratories in U.S.A

d). GEC laboratories in U.S.A

49. A semiconductor based temperature transducer has a temperature coefficient of –2500mV/0C. This

transducer is indeed a –

a.)Thermistor

b.) Forward biased pn junction diode

c. )Reverse biased pn junction diode

d.) FET
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50. Which of the followings pairs of Telemetry situations & Modulation techniques & conditions is

correctly matched

a. )Pulse amplitude modulation Low amplitude signals

b. )Pulse position modulation For short distance when power is enough

c.) Pulse width modulation Power to be spent in telemetry is required to be low

d.) Pulse code modulation. Minimisation of interference effects.

51. The SCR ratings di/dt in A/m sec & dv/dt in n/m sec, may vary, respectively between

a.)20 to 500, 10 to 100

b. )both 20 to 500

c.) both 10 to 100

d.) 50 to 300, 20 to 500

52. Match the given controlled rectifiers with 50 Hz supply

a. )1 phase full converter with source inductance

b. )3 phase full converter

c.)3 phase semiconductor

d. )3 phase halls wave converter

53. For natural or forced commutation the cyclo converters (CCs) requires as under.

a) natural commutation in both step up & step down CCs

b.) forced commutation in both step up & step down CCs

c.) forced commutation in step up CCs

d). forced commutation in step down CCs

54. The peak inverse voltage in ac to dc converter system is highest in

a). single phase full wave mid point converter

b). single phase full converter

c) 3 phase bridge converter

d). 3 phase half wave converter.

55. A single phase full converter feeds power to RLE load with R = 6 W L = 6 MH & E = 60 V. The ac

source voltage is 230 V, 50 Hz, For continuous conduction, the average value of load current for a

firing angle delay of 50 is

a.)12.181 A

b). 14.81 A

c). 16.76 A

d.) 32.40 A

57. What is 215 complement of 00011100-

a.) 11100011

b.) 10001100

c.) 11100100

d.) 10000111

58. In C programming a expression contains relational operators, assignment operators & arithmetic

operators if parentheses is absent then execution follows

a.) assignment, relational, arithmetic

b.) arithmetic, relational, assignment

c.) relational, arithmetic, assignment

d.) assignment, arithmetic, relational

59. In semiconductor memory information stored in form

a.) binary

b.) hexadecimal

c.) octal

d.) ASCII

60. i\p to Not gate gives o/p as

a.) inversion of some bits

b.) 2’s complement of i\p

c.) 1’s complement of i\p

d.) o/p is some as i\p

